&2 TsurRUMI Pump

Tsurumi Europe GmbH
Wahlerstr. 10 * 40472 Dusseldorf * Germany

P a rts I iSt Tel.: +49-211-4179373

sales@tsurumi.eu

Fax: +49-211-417937-480
www.tsurumi.eu

80SFQ21.5 Kontroll-Nr. -- 2019-01-2¢ V.20 / 1.11.2017
Pos.no Item no. Description Quant. | UP

Packing O-Ring Set 1| Price on req.
1 001-502-13 Cabtyre Cable Set (10m)(EUR) HO7RN4Cx1.5mm2(CEE) CL 1 | Price on req.
3 003-190-10 Gland SUS316 (EN X5Cr-Ni-Mo17-12-2) 1 | Price on req.
31 140-016-22 Hex.Bolt M5x12 SUS304 (EN X5CrNi18-10) Stainless Steel 2 | Price on rea.
9c-1 143-086-22 Pan Screw (w/Spring Washer) M4x8 SWRM 1 | Price on req.
9c-3 142-124-20 Plain Washer M4 SPC 1 | Price on req.
20 020-317-18 Pump Casing 8/15-CL SCS14 (DIN 1.4408 GX5CrNiMo19-11-2) Stainless Steel Castina 1 | Price on rea.
20-1 140-056-24 Hex.Bolt M8x30 SUS316 (DIN 1.4401) Stainless Steel 4 | Price on req.
20-3 142-163-21 Spring Washer M8 SUS316 (DIN 1.4401) Stainless Steel 4 | Price on req.
20-4 122-333-22 O-Rina 170xd3.1 FPDM 1 | Price on rea.
21 021-276-17 Impeller (50HZ) 50Hz SCS14 (DIN 1.4408 GX5CrNiMo19-11-2) Stainless Steel Casting 1 | Price on req.
21-2 141-032-27 Hex.Cap Nut M12 SUS316 (DIN 1.4401) Stainless Steel 1 | Price on req.
21-31 142-164-22 Spring Washer M10 SUS316 (DIN 1.4401) Stainless Steel 1 | Price on req.
21-32 142-165-23 Spring Washer M12 SUS316 (DIN 1.4401) Stainless Steel 1 | Price on req.
22 022-305-19 Suction Cover 8/15-CL SCS14 (DIN 1.4408 GX5CrNiMo19-11-2) Stainless Steel Casting 1 | Price on req.
221 140-052-20 Hex.Bolt M8x16 SUS316 (DIN 1.4401) Stainless Steel 3 | Price on rea.
22-3 142-163-21 Spring Washer M8 SUS316 (DIN 1.4401) Stainless Steel 3 | Price on req.
22-5 120-132-10 Packing (S.Cover) d150xd183x0.3t PE 1 | Price on req.
23 023-115-26 Strainer 8/15-CL SUS316 (DIN 1.4401) Stainless Steel 1| Price on rea.
25 025-190-18 Mechanical Seal X-18W SiC 1 | Price on req.
251 143-070-10 Pan Screw M5x6 SWRM 2 | Price on req.
30 030-116-16 Oil Rina (Plastic) 1 | Price on rea.
32 032-124-13 Hose Coupling 80mm SCS14 (DIN 1.4408 GX5CrNiMo19-11-2) Stainless Steel Casting 1 | Price on req.
35 035-117-12 Oil Plug M10x20 SUS316 (DIN 1.4401) Stainless Steel 1| Price on req.
35-5 121-387-15 Packina d10.3xd16x3t PE 1 | Price on rea.
36 Lubricant 840cc Turbine Oil ISO VG32 1 | Price on req.
40 040-115-16 Impeller Shim d16.2xd22x0.3t SUS316 (DIN 1.4401) Stainless Steel 1 | Price on req.
48 048-119-14 Screwed Flange 80mm(P.C.140) SCS14 (DIN 1.4408 GX5CrNiMo19-11-2) Stainless Steel Castina 1| Price on rea.
48-1 140-098-35 Hex. Bolt M8x20 SUS316 (EN X5CrNiMo17-12-2) Stainless Steel 2 | Price on req.
48-3 142-165-23 Spring Washer M12 SUS316 (DIN 1.4401) Stainless Steel 2 | Price on req.
48-5 121-150-17 Packing P.C.140xd85x2t Cork 1| Price on rea.
49 049-128-19 Bottom Plate 8/15-CL SUS316 (DIN 1.4401) Stainless Steel 1 | Price on req.
49-1 140-060-21 Hex.Bolt M8x50 SUS316 (DIN 1.4401) Stainless Steel 3 | Price on req.
49-3 142-127-36 Plain Washer M8 SUS316 (EN X5CrNiMo17-12-2) Stainless Steel 3 | Price on rea.
51 051-171-14 Motor Head Cover SCS14 (DIN 1.4408 GX5CrNiMo19-11-2) Stainless Steel Casting 1 | Price on req.
511 140-055-10 Hex.Bolt M8x25 SUS304 4 | Price on req.
51-5 122-146-26 O-Rina G-175 CR 1 | Price on rea.
52a 052-100-15 Bearing 6201Z2ZC3 1 | Price on req.
52a-3 142-195-19 Wave Washer #6204/6303 SK-5 1 | Price on req.
52b 052-108-13 Bearina 6305Z2ZC3 1| Price on rea.
52b-1 143-028-13 Pan Screw M5x10 SWRM 2 | Price on req.
52b-3 062-187-17 Bearing Fixing Washer d5.5xd18x2.3t SPC 2 | Price on req.
52b-6 146-015-16 Retainina Rina C25 SK 1 | Price on rea.
53 053- Motor Protector 1 | Price on req.
53-1 143-016-18 Pan Screw M4x12 SWRM 2 | Price on req.
53-3 142-124-20 Plain Washer M4 SPC 2 | Price on rea.
54-8 147-039-19 Impeller Key 5x5x15.51 SUS316 (DIN 1.4401) Stainless Steel 1 | Price on req.
55 055-436-12 Rotor 1| Price on req.
56 056-001-99 Stator 1| Price on rea.
64 064-329-19 Motor Frame SCS14 (DIN 1.4408 GX5CrNiMo19-11-2) Stainless Steel Casting 1 | Price on req.
60 060-267-16 Bearing Housing FC 1| Price on rea.
60-1 140-032-11 Hex.Bolt M6x15 SUS304 (EN X5CrNi18-10) Stainless Steel 4 | Price on rea.
60-3 142-126-19 Plain Washer M6 SUS304 (EN X5CrNi18-10) Stainless Steel 4 | Price on req.
60-4 122-130-27 O-Rina G-95 CR 1 | Price on rea.
68 068-153-12 Handle 37-CL SCS14 (DIN 1.4408 GX5CrNiMo19-11-2) Stainless Steel Castina 1| Price on rea.
68-1 140-054-35 Hex.Bolt M8x20 SUS316 (DIN 1.4401) Stainless Steel 2 | Price on req.
68-3 142-163-21 Spring Washer M8 SUS316 (DIN 1.4401) Stainless Steel 2 | Price on req.
7 071-106-10 Shaft Sleeve 8/15-CL SUS316 (DIN 1.4401) Stainless Steel 1| Price on rea.
173-280-18 Packing & O-Ring Set 1| Price on req.
##oilVG32 ml Turbine Oil ISO VG32 840 | Price on req.




Exploded View
80SFQ21.5

80SFQ21.5

&2 TSURUMI Pump

Tsurumi Europe GmbH
23.01.201¢ V.20 /1.11.2017

Wahlerstr. 10 * 40472 Disseldorf * Germany

Tel.: +49-211-4179373 sales@tsurumi.eu
Fax: +49-211-417937-480 www.tsurumi.eu




